	[image: image1.png]cbseﬁguess




	http://www.cbseguess.com/



Guess Paper – 2011
Class – X
 Subject –Physics

TOPIC :- NUMERICALS ( CH-10)




Max. Marks:- 25

1.What is the focal length of mirror whose radius of curvature is 40 cm? (2)


2. What will be the size of image if magnification is 2 and size of object is 3 cm?(2)


3.An object is 5 cm high placed at a distance of 10 cm from a convex mirror of radius of curvature 30 cm.Find the nature, position and size of the image.(3)


4.An arrow 2.5 cm high placed at a distance of 25 cm from a diverging mirror of focal length 20 cm. Find the nature, position and size of the image formed.(3)


5.If an object of 7 cm height is placed at a distance of 12 cm from  a convex lens of focal length 8 cm. Find the position nature and height of the image.(3)


6.Where should be the object placed from a converging lens of focal legth 10 cm , so as to obtain a virtual image of magnification 2? (3)


7.Two lenses of power -1.5 D and  + 2.75 D are kept in contact.Find the focal length of the combination.(3)


8.The image formed with a converging lens is erect and 3 times the length of the object.The focal length of the lens is 20 cm. Calculate the object and image distance. (3)


9. Two thin lenses of focal length 15 cm and 30 cm respectively are kept in contact. What is the power of combination? (3) 
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